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QUESTION 1

How are lifecycles in D2 stored? 

A. As dm_policy 

B. As dm_lifecycle 

C. As d2_lifecycle_config 

D. As d2_policy 

Correct Answer: C 

 

QUESTION 2

Which statement is true regarding default values for basic and extended permissions in a Documentum permission set
for dm_owner? 

A. They are configured in the Content Server configuration object. 

B. They are configured in the Server.ini file. 

C. They are not configurable. 

D. They are configured in the Repository configuration object. 

Correct Answer: D 

 

QUESTION 3

Which statement is true regarding changing views or pages in the D2 interface? 

A. DOM is manipulated to avoid page changes or client JavaScript reload. 

B. Users must navigate pages to switch views. 

C. Client JavaScript reload is required for users to change pages. 

D. DOM is manipulated to avoid page changes, but client JavaScript reload is required. 

Correct Answer: A 

 

QUESTION 4

To which type can the account that the Content Server uses to perform lifecycle actions be configured? 

A. current user 

E10-110 PDF Dumps | E10-110 Practice Test | E10-110 Study Guide                                2 / 6

https://www.passapply.com/e10-110.html
https://www.passapply.com/e10-110.html
https://www.passapply.com/e10-110.html


https://www.passapply.com/e10-110.html
2024 Latest passapply E10-110 PDF and VCE dumps Download

B. document owner 

C. application owner 

D. workflow supervisor 

Correct Answer: A 

 

QUESTION 5

Which Authentication plug-in supports single sign-on (SSO) and secure communications between Documentum
components, while avoiding the overhead of Secure Sockets Layer? 

A. Computer Associates Site Minder 

B. RSA Secure ID 

C. LDAP 

D. Kerberos 

Correct Answer: D 

 

QUESTION 6

Which statement regarding xMS and xCP 2.x applications is true? 

A. xMS easily integrates xCP solutions with in-place third-party systems. 

B. xMS quickly deploys xCP solutions in a VMware cloud environment. 

C. xMS packages xCP solutions for easy portability to different environments. 

D. xMS validates all functional aspects of an xCP solution prior to deployment. 

Correct Answer: B 

 

QUESTION 7

Which statement is true regarding communication in D2? 

A. Monitored web traffic has a data payload that is either XML or JSON. 

B. Communication between the browser and client is through Google Web Toolkit (GWT) RPC calls. 

C. Communication between the browser and client is through binary RPC calls. 

D. Java applets are the primary communication mechanism between D2 and the server. 

Correct Answer: B 
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QUESTION 8

Which functionality does the SMTP activity template provide to users? 

A. send outgoing email 

B. receive XML as email 

C. receive email attachments 

D. send email attachments 

Correct Answer: A 

 

QUESTION 9

A customer wants to provide its graphic artists with a Documentum WDK-based client that displays files as image
thumbnails. The customer wants the client user interface to have a similar look and feel to Webtop. 

Which client product satisfies this requirement? 

A. Webtop 

B. Web Publisher 

C. Digital Asset Manager 

D. Media Workspace 

Correct Answer: C 

 

QUESTION 10

Which attribute is among those that Webtop simple search runs against when full-text indexing is NOT enabled? 

A. r_version_label 

B. keywords 

C. description 

D. subject 

Correct Answer: D 

 

QUESTION 11

Which action moves a document to a previous lifecycle state? 
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A. Demote 

B. Previous 

C. Suspend 

D. Back 

Correct Answer: A 

 

QUESTION 12

How must auditing be configured to facilitate process reporting? 

A. Auditing must be configured on the process template. 

B. Auditing must be configured using Documentum Administrator. 

C. Auditing must be configured through the initiate process form. 

D. Auditing must be configured on the process instance. 

Correct Answer: A 

 

QUESTION 13

Through which means does D2 provide the ability to customize client interaction with content in a repository? 

A. required customizations (custom coding) 

B. required configuration (no custom coding) 

C. dynamic auto-configuration 

D. pre-built EMC solutions 

Correct Answer: B 

 

QUESTION 14

What executes the automatic activities of a business process? 

A. workflow agent 

B. workflow manager 

C. workflow process data 

D. workflow supervisor 

Correct Answer: A 
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QUESTION 15

An organization with a Service Oriented Architecture (SOA) wants to leverage remote Documentum content
management operations. 

What is required on the application server to satisfy this requirement? 

A. DFS and DFC 

B. DFC and IRM 

C. DFS and WDK 

D. IRM and WDK 

Correct Answer: A 
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